



ON THE GENERALIZED k -FIBONACCI NUMBERS

SERGIO FALCON

Received 08 May, 2014

Abstract. In this paper, new types of k -Fibonacci numbers are described, with respect to the definition of the distance between numbers using a recurrence relation. However, these sequences differ not only by the value of the natural number k but also according to the value of a new parameter r which is used in defining this distance. Furthermore, various properties of these new numbers are discussed.

In the second part of this paper, we apply the binomial transform to these generalized k -Fibonacci sequences.

2010 *Mathematics Subject Classification:* 15A36; 11C20; 11B39

Keywords: generalizations of Fibonacci numbers, k -Fibonacci numbers, r -distance Fibonacci numbers, generating function, binomial transform

1. INTRODUCTION

Classical Fibonacci numbers have been generalized in different ways [8–11]. One such generalization which has recently increased interest among researchers mathematical terms pertains to the k -Fibonacci numbers [4, 5].

k -Fibonacci numbers are defined by the recurrence relation $F_{k,n+1} = kF_{k,n} + F_{k,n-1}$ for $n \geq 1$ with the initial conditions $F_{k,0} = 0$; $F_{k,1} = 1$. If $F_k = \{F_{k,n}\}$, then F_1 is the classical Fibonacci sequence while F_2 is the Pell sequence.

2. GENERALIZED k -FIBONACCI NUMBERS

In this section we apply the definition of r -distance to k -Fibonacci numbers in a generalized approach to previous results [2, 12]. The formulas used to calculate the general term of the sequences generated by the above definition are very interesting and they allow us to find the sum of n first terms.

Definition 1. With respect to natural numbers $k \geq 1$, $n \geq 0$, $r \geq 1$, we define the generalized (k, r) -Fibonacci numbers $F_{k,n}(r)$ by the recurrence relation

$$F_{k,n}(r) = k F_{k,n-r}(r) + F_{k,n-2}(r) \quad \text{for } n \geq r, \quad (2.1)$$

with initial conditions $F_{k,n}(r) = 1$, $n = 0, 1, 2, \dots, r-1$, except $F_{k,1}(1) = k$.

The following proposition shows the formulae used to calculate the general term of the sequence $F_k(r)$, where $r \geq 2$ is odd or even (for $r = 1$ see [4,5]).

Theorem 1 (Main formula). (1) *If r is even, $r = 2p$:*

$$F_{k,2n}(2p) = F_{k,2n+1}(2p) = \sum_{j=0}^{n/p} \binom{n-(p-1)j}{j} k^j. \quad (2.2)$$

(2) *If r is odd, $r = 2p + 1 \geq 3$:*

$$F_{k,2n}(2p+1) = \sum_{j=0} \left[\binom{n-(2p-1)j}{2j} k^{2j} + \binom{n-p-(2p-1)j}{2j+1} k^{2j+1} \right], \quad (2.3)$$

$$F_{k,2n+1}(2p+1) = \sum_{j=0} \left[\binom{n-(2p-1)j}{2j} k^{2j} + \binom{n-(p-1)-(2p-1)j}{2j+1} k^{2j+1} \right]. \quad (2.4)$$

Proof. By induction.

Formula (2.2). Let $r = 2p$.

For $n = 0$, by definition, let $F_{k,0}(2p) = 1$, and the right hand side (RHS) of (2.2) is

$$F_{k,0}(2p) = \sum_0^0 \binom{(1-p)j}{j} k^j = 1.$$

For $n = 1$, by definition, let $F_{k,2}(2) = 1 + k$, and $F_{k,2}(r) = 1$ for $r > 2$. In formula (2.2) we have

$$F_{k,2}(2p) = \sum_0^2 \binom{1-(p-1)j}{j} k^j = 1 + \binom{1-(p-1)j}{1} k.$$

Then, $F_{k,2}(2) = 1 + k$ and $F_{k,2}(2p) = 1$ for $2p = 4, 6, 8, \dots$

Suppose this formula holds for n . Then

$$\begin{aligned} F_{k,2n+2}(2p) &= kF_{k,2n+2-2p}(2p) + F_{k,2n}(2p) \\ &= \sum_{j=0} \binom{n-(p-1)j}{j} k^j + kF_{k,2(n+1-p)}(2p) \\ &= \sum_{j=0} \binom{n-(p-1)j}{j} k^j + k \sum_{j=0} \binom{n+1-p-(p-1)j}{j} k^j \\ &= 1 + \sum_{j=1} \binom{n-(p-1)j}{j} k^j + \sum_{j=0} \binom{n-(p-1)(j+1)}{j} k^{j+1} \\ &= 1 + \sum_{j=0} \left[\binom{n-(p-1)(j+1)}{j+1} k^{j+1} + \binom{n-(p-1)(j+1)}{j} k^{j+1} \right] \\ &= 1 + \sum_{j=0} \binom{n-(p-1)(j+1)+1}{j+1} k^{j+1} \end{aligned}$$

$$= \sum_{j=0}^{n+1} \binom{n+1-(p-1)j}{j} k^j = F_{k,2n+2}(2p)$$

as we proposed to prove.

We will prove formulae (2.3) and (2.4) together.

For $n = 0$ we have $F_{k,0}(2p+1) = 1$ and the RHS of (2.3) is

$$\sum_0^0 \left[\binom{-(2p-1)j}{2j} k^{2j} + \binom{-p-(2p-1)j}{2j+1} k^{2j+1} \right] = 1.$$

In the same manner, we have $F_{k,1}(2p+1) = 1$ and the RHS of (2.4) is

$$\sum_0^0 \left[\binom{-(2p-1)j}{2j} k^{2j} + \binom{1-p-(2p-1)j}{2j+1} k^{2j+1} \right] = 1 \text{ because } 1-p < 0.$$

For $n = 1$ we have $F_{k,2}(2p+1) = 1$ and the RHS of (2.3) is

$$\sum_0^0 \left[\binom{1-(2p-1)j}{2j} k^{2j} + \binom{1-p-(2p-1)j}{2j+1} k^{2j+1} \right] = 1,$$

because the condition $p \geq 1$ involves $1-p-(2p-1)j < 0$.

For formula (2.4), if $p = 1$, the left hand side (LHS) is $F_{k,3}(2p+1) = 1+k$, while the RHS is

$$\sum_0^0 \left[\binom{1-j}{2j} k^{2j} + \binom{1-j}{2j+1} k^{2j+1} \right] = 1+k.$$

If $p > 1$, the LHS and the RHS of (2.4) are equal to 1.

Suppose the formula holds for $2n$ and $2n+1$. Then

$$\begin{aligned} F_{k,2n+2}(2p+1) &= kF_{k,2n+1-2p}(2p+1) + F_{k,2n}(2p+1) \\ &= kF_{k,2(n-p)+1}(2p+1) + F_{k,2n}(2p+1) \\ &= k \sum_{j=0}^n \left[\binom{n-p-(2p-1)j}{2j} k^{2j} + \binom{n-(2p-1)-(2p-1)j}{2j+1} k^{2j+1} \right] \\ &\quad + \sum_{j=0}^n \left[\binom{n-(2p-1)j}{2j} k^{2j} + \binom{n-p-(2p-1)j}{2j+1} k^{2j+1} \right] \\ &= \sum_{j=0}^n \left[\binom{n-p-(2p-1)j}{2j} + \binom{n-p-(2p-1)j}{2j+1} \right] k^{2j+1} \\ &\quad + \sum_{j=0}^n \binom{n-(2p-1)(j+1)}{2j+1} k^{2j+2} + 1 + \sum_{j=1}^n \binom{n-(2p-1)j}{2j} k^{2j} \\ &= \sum_{j=0}^n \binom{n+1-p-(2p-1)j}{2j+1} k^{2j+1} \end{aligned}$$

$$\begin{aligned}
& + \sum_{j=1}^n \binom{n-(2p-1)j}{2j-1} k^{2j} + 1 + \sum_{j=1}^n \binom{n-(2p-1)j}{2j} k^{2j} \\
& = \sum_{j=0}^n \binom{n+1-p-(2p-1)j}{2j+1} k^{2j+1} + \sum_{j=1}^n \binom{n+1-(2p-1)j}{2j} k^{2j} + 1 \\
& = \sum_{j=0}^n \binom{n+1-p-(2p-1)j}{2j+1} k^{2j+1} + \sum_{j=0}^n \binom{n+1-(2p-1)j}{2j} k^{2j} \\
& = F_{k,2n+2}(2p+1).
\end{aligned}$$

A similar development shows the formula for $F_{k,2n+3}(2p+1)$. \square

In [3] the following formulas are proven:

$$\begin{aligned}
(1) \text{ Sum: } S_{k,n}(r) &= \frac{1}{k} \left(F_{k,n+r-1}(r) + F_{k,n+r}(r) - 2 \right). \\
(2) \text{ Generating function: } f_k(r,x) &= \frac{1+x}{1-x^2-kx^r}.
\end{aligned}$$

3. BINOMIAL TRANSFORM OF THE GENERALIZED k -FIBONACCI NUMBERS

In this section we will apply the binomial transform to the preceding sequences and will obtain new integer sequences [7].

Definition 2. Binomial transform of the generalized k -Fibonacci sequence is defined in the classical form as

$$BF_{k,n}(r) = \sum_{j=0}^n \binom{n}{j} F_{k,j}(r). \quad (3.1)$$

For $r = 1$, see [6].

So, for $r = 2, 3, \dots$ the sequences obtained by applying this transformation are:

$$BF_k(2) = \{1, 2, 4+k, 8+4k, 16+12k+k^2, 32+32k+6k^2, 64+80k+24k^2+k^3, 128+192k+80k^2+8k^3, \dots\}$$

$$BF_k(3) = \{1, 2, 4, 8+k, 16+5k, 32+17k, 64+49k+k^2, 128+129k+8k^2, 256+321k+39k^2, 512+769k+150k^2+k^3, 1024+1793k+501k^2+11k^3, \dots\}$$

$$BF_k(4) = \{1, 2, 4, 8, 16+k, 32+6k, 64+23k, 128+72k, 256+201k+k^2, 512+522k+10k^2, 1024+1291k+58k^2, 2048+3084k+256k^2, \dots\}$$

Curiously, $BF_1(2)$ is the classical Pell sequence.

3.1. Generating Function of the Sequences $BF_k(r)$

[1] shows that if $A(x)$ is the generating function of the sequence $\{a_n\}$, then $S(x) = \frac{1}{1-x} A\left(\frac{x}{1-x}\right)$ is the generating function of the sequence $\{b_n\}$ with $b_n = \sum_j \binom{n}{j} a_j$.

So, we can deduce the generating function of the $F_k(r)$ sequence, for $r = 2, 3, \dots$ is $g_r(x) = \frac{1}{1-x} f_r\left(\frac{x}{1-x}\right)$, that is:

$$g_r(x) = \frac{(1-x)^{r-2}}{(1-2x)(1-x)^{r-2} - kx^r}. \tag{3.2}$$

3.2. Recurrence Relation of the Sequences $BF_k(r)$

Taking into account $g_r(x)$ is the generating function of the sequences $BF_k(r)$, the coefficients of the denominator of this function shows the recurrence relation of the sequences $BF_k(r)$.

For clarity, we indicate as $b_n(r)$ the elements of the sequence $BF_k(r)$. The coefficients of the polynomial $D(x) = (1-2x)(1-x)^{r-2} - kx^r$, for $r = 2, 3, \dots$, show the recurrence relation of the sequences $\{b_n(r)\}$, and consequently:

$$r = 2 \rightarrow \{1, -2, -k\} \rightarrow b_n(2) = 2b_{n-1}(2) + kb_{n-2}(2) \tag{3.3}$$

$$r = 3 \rightarrow \{1, -3, 2, -k\} \rightarrow b_n(3) = 3b_{n-1}(3) - 2b_{n-2}(3) + kb_{n-3}(3) \tag{3.4}$$

$$r = 4 \rightarrow \{1, -4, 5, -2, -k\} \rightarrow b_n(4) = 4b_{n-1}(4) - 5b_{n-2}(4) + 2b_{n-3}(4) + kb_{n-4}(4) \tag{3.5}$$

$$r = 5 \rightarrow \{1, -5, 9, -7, 2, -k\} \rightarrow b_n(5) = 5b_{n-1}(5) - 9b_{n-2}(5) + 7b_{n-3}(5) - 2b_{n-4}(5) + kb_{n-5}(5) \tag{3.6}$$

with the initial conditions $b_n(r) = 2^n$ for $n = 0, 1, 2, \dots, r-1$.

3.3. Sums of the Sequences $BF_k(r)$

In the sequel we will prove the formulas for the sums of the sequences $BF_k(2)$ and $BF_k(3)$ and show for $BF_k(4)$.

Let $b_n(2) = BF_{k,n}(2)$ be and we will indicate as b_n .

From (3.3) it is $b_n = 2b_{n-1} + kb_{n-2}$. Then

$$\begin{aligned} S_n(2) &= \sum_{j=0}^n b_j = b_0 + b_1 + \sum_2^n b_j = 1 + 2 + 2 \sum_2^n b_{j-1} + k \sum_2^n b_{j-2} \\ &= 3 + 2(S_n - b_0 - b_n) + k(S_n - b_{n-1} - b_n) \\ &= 1 + 2S_n + kS_n - (2+k)b_n - kb_{n-1} \rightarrow \\ S_n(2) &= \frac{1}{1+k} \left((2+k)b_n(2) + kb_{n-1}(2) - 1 \right). \end{aligned}$$

Let $b_n(3) = BF_{k,n}(3)$ be and we will indicate as b_n .

From (3.4) it is $b_n = 3b_{n-1} - 2b_{n-2} + kb_{n-3}$. Then

$$S_n(3) = \sum_{j=0}^n b_j = b_0 + b_1 + b_2 + \sum_3^n b_j$$

$$\begin{aligned}
&= 1 + 2 + 4 + 3 \sum_3^n b_{j-1} - 2 \sum_3^n b_{j-2} + k \sum_3^n b_{j-3} \\
&= 7 + 3(S_n - b_0 - b_1 - b_n) - 2(S_n - b_0 - b_{n-1} - b_n) + k(S_n - b_{n-2} - b_{n-1} - b_n) \\
&= S_n + kS_n - (1+k)S_n - (k-2)b_{n-1} - kb_{n-2} \rightarrow \\
S_n(3) &= \frac{1}{k} ((1+k)b_n + (k-2)b_{n-1} + kb_{n-2}) \\
&= \frac{1}{k} (b_n - 2b_{n-1} + kb_{n-2} + (b_n + b_{n-1} + b_{n-2})) \\
&= \frac{1}{k} (b_{n+1} - 2b_n) + S_n - S_{n-3} \rightarrow S_{n-3}(3) = \frac{1}{k} (b_{n+1} - 2b_n) \rightarrow \\
S_n(3) &= \frac{1}{k} (b_{n+4}(3) - 2b_{n+3}(3)).
\end{aligned}$$

And so,

$$\begin{aligned}
S_n(4) &= \frac{1}{k} (b_{n+4}(4) - 3b_{n+3}(4) + 2b_{n+2}(4)), \\
S_n(5) &= \frac{1}{k} (b_{n+4}(5) - 4b_{n+3}(5) + 5b_{n+2}(5) - 2b_{n+1}(5)).
\end{aligned}$$

And we see that the coefficients of the sum $S_n(r)$ are the constant coefficients of the polynomial $D(x)$ for $r = n - 1$. So, the following sum must be

$$S_n(6) = \frac{1}{k} (b_{n+4}(6) - 5b_{n+3}(6) + 9b_{n+2}(6) - 7b_{n+1}(6) + 2b_n(6)).$$

And rightly so!

CONCLUSIONS

We have generalized the r -distance Fibonacci numbers to the case of k -Fibonacci numbers, getting more general formulas that previously found.

These formulas include which allows to find the general term of a sequence of this type according to r is even or odd.

This paper also shows the formula to find the sum of the terms of the generalized (k, r) -Fibonacci sequences.

We apply the binomial transform to these sequences and find its generating function. Later, we found both the recurrence relation for the sequences of the binomial transforms of this new type of k -Fibonacci numbers and the formula for the sum of the terms of these sequences.

REFERENCES

- [1] P. Barry, "On integer-sequence-based constructions of generalized Pascal triangles," *Journal of Integer Sequences*, vol. 9, no. Article 06.2.4, 2006.
- [2] D. Bród, K. Piejko, and I. Wloch, "Distance Fibonacci numbers, distance Lucas numbers and their applications," *Ars Combinatoria*, vol. CXII, pp. 397–410, 2013.

- [3] S. Falcon, "Generalized (k, r) -Fibonacci numbers," *General Mathematics Notes*, vol. 25, no. 2, pp. 148–158, 2014.
- [4] S. Falcon and A. Plaza, "On the Fibonacci k -numbers," *Chaos, Solitons & Fractals*, vol. 32, no. 5, pp. 1615–1624, 2006, doi: [10.1016/j.chaos.2006.09.022](https://doi.org/10.1016/j.chaos.2006.09.022).
- [5] S. Falcon and A. Plaza, "The k -Fibonacci sequence and the Pascal 2-triangle," *Chaos, Solitons & Fractals*, vol. 33, no. 1, pp. 38–49, 2007, doi: [10.1016/j.chaos.2006.10.022](https://doi.org/10.1016/j.chaos.2006.10.022).
- [6] S. Falcon and A. Plaza, "Binomial transforms of the k -Fibonacci sequence," *International Journal of Nonlinear Sciences & Numerical Simulation*, vol. 10, no. 11–12, pp. 1527 – 1538, 2009, doi: [10.1515/IJNSNS.2009.10.11-12.1527](https://doi.org/10.1515/IJNSNS.2009.10.11-12.1527).
- [7] R. Graham, D. E. Knuth, and O. Patashnik, *Concrete Mathematics*. Addison Wesley, 1998.
- [8] V. E. Hoggatt, *Fibonacci and Lucas numbers*. Houghton Mifflin, 1969.
- [9] A. F. Horadam, "A generalized Fibonacci sequence," *Math. Mag.*, vol. 68, pp. 455–459, 1961.
- [10] A. G. Shanon, "Generalized Fibonacci triples," *Amer. Math. Monthly*, vol. 80, pp. 187–190, 1973.
- [11] V. W. Spinadel, "The family of metallic means," *VisMath*, vol. 1, no. 3, 1999. [Online]. Available: <http://members.tripod.com/vismath/>
- [12] I. Wloch, U. Bednarz, D. Bród, A. Wloch, and M. Wolowicz-Musial, "On a new type of distance Fibonacci numbers," *Discrete Applied Mathematics*, vol. 161, no. 16-17, pp. 2695–2701, 2013, doi: [10.1016/j.dam.2013.05.029](https://doi.org/10.1016/j.dam.2013.05.029).

Author's address

Sergio Falcon

Department of Mathematics, University of Las Palmas de Gran Canaria, Spain

E-mail address: sergio.falcon@ulpgc.es